3 (Sem-5) HIS 1

2018

HISTORY
( General )

Paper : 5.1
[ History of India (1757-1857) |
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in 1 word or I sentence : 1x10=10

QB *1% 1 4Bl TS T Al

(a) Who was Alivardi Khan?
oAl A @ e 7

() Who became the Nawab of Bengal
after the Battle of 17577

$4¢q 599 Ya< A6 I 4@ (T (2f=e ?
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(c)

(@)

(e)

(g)

'A9/128

(2)

Give any one of the reasons, which

was behind Mir Qasim’s shifting of

Capital from
Monghyr.
RRRIE 2] e N ifoey i gt
R TS 4 i @ @b I o

Murshidabad to

Who was Shuja-ud-Daula?

T-8%- (e (I o 2

In which year was the Pitt’s India Act
passed? :

Foq SRS i3 (P 50 AR 91 (2= 2

Name the policy introduced by Lord
Wellesley for expansion of British
empire in India. :
SRess fiftr e TeRR qd wS
(ITETORRTE (TR MOTor =T ford |

In which year did Lord William
Bentinck pass the Act abolishing the
Sati system in India?
TREE AR oA (@l (FIRR IRE TE
BTN @ @R WS W AT
<fafee 2 '

(‘Continued )

. Answer the following in brief :

A9/128

(3)

(h) Who was the Law Member in Lord
William Bentinck’s Council?

=6 T3 @f6%T FifRATe Wiz AT (@
wifeE 2

(i) Who was Mangal Pandey?
TR Y (I SHIfRe 2

() Name the last Governor-General of
India.

O] (N9 S~ (AT A o |

o fracarae oY Teq fit

(a) Write two important results ofthe
Battle of Wandiwash, 1760.

Y940 v TFARI Fad YOI SFgYd T
fora 1

(b)) Who introduced the Regulating Act
and what was the purpose behind it?

(RQTEMDL |2 (I 2T TR AF ZJE
sS4 T Wi

2x5=10
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(4) | (S)

(c) Write two important provisions of the (b) The Treaty of Allahabad
Treaty of Salbai, 1782. ‘
mvo\mwﬁyﬁﬁﬁﬁ@wﬁww TR B
I ’

(c) Maharaja Ranjit Singh

(d) By which Act was the Governor- Wﬁf\%ﬁ g
General of Bengal made the
Governor-General of India and who

d) T f Seri tam, 1792
was the first Governor-General of (d) Treaty of Seringapatam

India? ‘ SreeeiGaR A, Sas%
@R S AE TR SRS - (SR
TRE] SRH3-CSEE [E (2R S T[] (e) Haidar Ali

+{3- 9 :
A2 FRAI-(SCACTA (T 11T 2 i i
(e) Write the name of any two States.

which were annexed by Lord

Dalhousie to the British® empire T FHAISE
"through the Doctrine of Lapse. )

7 (TR ek A @nefi &ite
Wﬁﬁawmwmm| ‘

() Nana 'Fadnavis

4. Answer any four of the following : 10x4=40

e R e SRR Tes i
3. Write short notes on (any four) : 5x4=20 (a) Critically * analyze the causes and
_ results of the Battle of Plassey.
59 Gt frn (R e ooy - » :
(@), Mirdafar STHICETOAIer RCael Moo |
% .
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(b)

()

(6)

What was the Dual System of
Administration in Bengal and what
were its results?

TR 0TS AP IR [ wife e WE
Fores & wifeet 2

What was the Permanent Settlement

~ of Bengal and what were its effects?

(d)

(e)

A9/128

& =fee 2 ’

What was the Subsidiary Alliance?
How far did the expansion of the
British empire in India become
possible through this system?

SEmegEs el WS & e e @

cree Rty e ReR fEE e

zfest 2

How far was Lord Dalhousie

responsible for. the autbreak of the

Mutiny of 18577

stea mﬁmm%m@%m
LI

( Continued )
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(7)

() Can the Mutiny of 1857 be called

‘India’s first war of independence’?
Discuss. '

Svea R faes ‘eRes 29w FRmel I
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